4 3 s Z 1

CLOPAY MODEL 902 REVISIONS
IDEAL MODEL C2AL SERlor REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
DOOR HEIGHT &7 | secTions 05 - [o8/2012| = SH |REVISED FOR TOI.
U 10 80" 4
1%.'__3.' Trﬁﬁld llg,—_%’. 2 g:.thMINUM NFEULL VISION WINDOW LITES, 06 = 06/2013 - SH REMOVED ACRYLIC GLAZING. SPECIFIED MAX GLAZING DIMENSION.
e —_g* GLE PANE OR INSULATED. ALL PANES 07 - 08/2016 - SH REMOVED WIND SPEED TABLE.
HORIZONTAL TRACK END HANGER BRACKET (SUPPLIED o pons B ANNEALED GLASS OR STRONGER. SINGLE /
BY DOOR INSTALLER) CLOSES ROLLER CHANNEL. -3 TRy ool 5 PANES §" OR THICKER. INSULATED WINDOWS 08 - | 02/2022 - SH |REVISED FOR TOI.
D INTERMEDIATE_HANGER REQUIRED FOR DOORS IF 4" THICK, CONSISTING OF (2) PANES {§" D
HORIZONTAL TRACK DEFLECTION EXCEEDS MAX, SECTION HEIGHT: 247 THICK. MAXIMUM DLO 33 X 21-3/4" [T =1)
CAST ALUMINUM P.A _1/240TH OF THE DOOR HEIGHT

CABLE DRUM —| THIS PRODUCT COMPLIES

WITH THE 2018 IBC/IRC.

EACH BRACKET ATTACHED W/(4) #14x5/8"
SHEET METAL SCREWS. ADJUSTABLE SLIDE
O ) ATTACHED TO TOP_BRACKET WITH QTY (2)
./ 1/4” X 1/2" BOLTS & NUTS PER BRACKET.

/ 12 GA. GALV. STEEL TOP ROLLER BRACKET.

NS 7
|= 3

_1_51 /-6" C—CHANNEL
GALV STEEL 1 ONE PER SECTION
HORIZONTAL ya — VIEW "D"

TRACK MIN. 14GA. \ r N [~

™

ARG

STRAPS ATTACHED WITH (3) 1/4" X3/4" SELF
TAPPING SCREWS (TWO SCREWS TO DOOR, ONE

SCREW TO C—CHANNEL). SEE REAR ELEVATION
R s

TRACK SECTIONS

GALVANIZED STEEL T- 1 s ; % i -
S

VERTICAL - .060 MIN \ \ \ 7 STRAPS PER SECTION
Y ~ N
2 2 2N\ i as SHOWN.
OPENING EITHER  CONTINUOUS ANGLE MEETING RALS
HEIGHT J o D > > X M 2 FORM A TONGUE » n
OR REVERSE ANGLE TRACK. MAX. HEIGHT: NOTE 6"x2—1/4"x12 GA. GALV. STEEL PLATE.
TRACK CLIPS ARE 12 GA. 18'0 g N N CENTER STILES ARE AND GROOVE THREE PER C—CHANNEL. SEE VIEW "E”
— GALV. STEEL. TRACK : \ \ ALWAYS 22" FROM JOINT ’ .
C T CLIPS ARE ATTACHED TO TRACK TWO POINT 4 \ CENTER TO CENTER C
12* TYPICAL WITH TWO 1/4" RIVETS. LOCKING N FOR ANY GIVEN DOOR
_I_CIR..'_CT_R 4 - . Y I WIDTH. DIMENSION 'B' Vo) SeE ME
. IS THE LEFTOVER .
L — i DIMENSION ON BOTH ""“* GF eA e
L3y | | / 7 | E::?IESNS?SNT'\-IIVEILIP orﬁff ;EIS DOUBLE END ROLLER 0
SIDE ELEVATION : GREATER THAN 33" OR e HE O I AN
! 17 ! . GALV STEEL, FASTENED _u_:iﬁ.
STANDARD LIFT TRACK DETAILS™ +—1 \ // 20 TypAd— LESS THAN 18 WITH ¢4) #14 X 5/8° —
20’2 MAX. DOOR WIDTH Wy Co a2 ¥
DOOR IS MADE 1/4"x3/4" SELF TAPPIN
OF 6063—T5 ALUMINUM EXTRUSIONS. SCREWS. o
WALL THICKNESS: PANEL IN BOTTOM SECTION 1/4%3/&" SELF TAPFING
TOP & BOTTOM RAILS ————.075 CAN BE .050" THICK SMOOTH SCREWS. QTY. (2) ALONG
INTER. TOP & BOTTOM RAILS —.075 AT THE CENTER OF EACH C—CHANNEL ALUMINUM. COMMERS: OF EACH HINGE
**NOTE: DOUBLE TRACK LOW HEADROOM, TOP HAS .1 x 1.875" FIN ATTACH THREE 6"x2—1/4"x12 GA. STEEL
HI-LIFT TRACK, FOLLOW-THE—ROOF TRACK, INTER. TOP RAIL CAP ————.040 PLATE TO THE UNDERSIDE OF THE — ;
AND VERTICAL LIFT TRACK ARE AVAILABLE SINGLE & DOUBLE END STILES .075 THE C—CHANNEL WITH (4) 1/4"x3/4"
OPTIONS. 3" TRACK ALSO AVAILABLE. CENTER STILES ——————.062 SELF TAPPING SCREWS. V
VIEW "E" il BOTTOM ROLLER BRACKET OF 12 GA. GALV. STEEL,
67 C—CHANNEL -—" FASTENED WITH (4> #14 X 5/8° SHT MTL SCREWS
CENTER STILES FASTENED TO RAILS END STILES FASTENED 1D
WITH FULL LENGTH 5/16° ALUMINUM RATT T e NERCaT 27 10 BALL LONG STEM STEEL ROLLER WITH
RODS AND FLANGE NUTS 5/16" ALUMINUM RODS AND 2-1/2" STEEL OR NYLON TIRE
B FLANGE NUTS 5 B

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE

OR INTERNATIONAL BUILDING CODE BUT DOES ET THE
IMPACT RESISTANT REQUIREMENT FOR WINDB RB...
REGIONS (REFER TO CHAPTER 16 FBC / . AS e ECH

3/16™ MIN. MAY BE BACK— f = —5/8" (TP.)

SHeL e [ huten ETE, BuUT ——— 6" TALL C—CHANNEL

NOT REQUIRED. COR-LOVLY CENTER HINGE DF 16 GA. 16 GA. GALV. STEEL
GALV. STEEL, ATTACHED TO INTER. BEINFORCING FIN ON INTER, TOP . :

BOTTOM RAIL WITH (2> #14 x 5/8° e, o TNICELTOR

SHT MTL SCREWS AND 0 INTER. TOP

RAIL WITH (2 174 - 20 x 1/2° HEX

1/8"%1" LONG
FILLET WELD (EBOXX

ELECTRODE MIN.). WELD HEAD MACHINE SCREWS & NUTS ?\o:ll'-Era';EgEngLNUhZElT’,;OE)((:'FgUggH
A e HEERIED 4"‘5'"'0”-'-" R SECTION 2 — 2 WITH INTEGRAL RETAINER FOR
——{CENTER AND 1/4” TACK 412 GA. GALV. REVERSE FLEXIBLE VINYL ASTRAGAL
WELD TOE OF ANGLE AT OR CONTINUOUS ANGLE
SAME SPACING. MOUNT TRACK FASTENED
DIRECTLY TO STEEL JAMB,
CONCRETE JAMBS STEEL JAMBS WOO0D JAMBS . .
I———i 3/8% x 1-1/2" MIN, THE DESIGN OF THE
2,000 PSI MIN E0LES T . EMBED LAG SUPPORTING STRUCTURAL
s ke (g s s Wy BRETS & T R .
3/8" DA x 1-1/2" 0.C. TO SECURE ARCHITECT OF RECORD. ?fg;g&Eg‘é'"%ﬁ';‘;‘g‘nﬁcwgsfﬁgggz i — 01513 ‘s PP T
MIN. EMBEDSISEVE! ANCHOR 1/4%1-1/2" MAY BE BACK—-FILLED 1/4°x3/4" LG 2x6 WOOD JAMB MANUF ACTURING .RRODUCT CODE!, -~
BOLT. WASHER INCL'D. MIN. EMBED TAPCON | WITH CONCRETE, BUT SELF TAPPING- To wooD TEST LoADS . 149 & 45 P MPC: C-AL“{F#99
| 13 ax. o.C. cou'cnm: FASTENER. NOT REQUIRED FOR SCREW STRUCTURE. TEST LOADS ~ +45 & -45 PSF
A TO SECURE 2x6 JAMB * WASHER REQD. SELF TAPPING SCREW. 18" MAX. 0.C. 1-1/8" DIA. WASHER REQ'D. A
10 NNk NEEDED 117 WAK. 0.C [IORSECURE C’SI IF NEEDED. Unless Stoted Otherwise | () 8585 Duke Boulevard CLOPAY WINDLOAD RATING
' 70 SECURE ANGLE ANGLE HO TOLERANCES are [:In a Mason, OH_45040 USA
TO CONCRETE. STEEL JAMB. CONTINUOUS ANGLE Tel. No. 513-770-4800
! MOUNT TRACK CLOPAY CORP. 0= +.031 Bmlu‘ ing Products Company Fox No. 513-770-4853
CONTINUOUS ANGLE FASTENED To 2%6 §2 ALL RIGHTS RESERVED. a0 = EHONs —
%‘8”;,"2??5{?&%‘5" / OR BETTER YELLOW 0~00 = :1:.005 DESCRIPTION: M/N 902, C2AL 20'2"” WIDE DES. +30/-30 PSF
PINE JAMB WITH ONE . = .
;EJLELOSW/::%f?/‘g'V{T &%Eésso‘l’j%‘:?%ﬂyws REVERSE OR CONTINUOUS g‘/:;g;lmp—zg/nc.uc 0000 = +.001 DRAWN BY: RJK DATE: 3/24/04 | SCALE: NONE DWG.
SCREW PER BRACKET ANGLE MOUNT TRACK - .
Py FASTENED DRECTLY FASTENED OReCTLY TRACK CLP Third Angle . |Deg:etsd Othi 1( 2 CHECKED BY: Mww DATE: 4/1/04 |SHEET 1 OF 1 |SIZE
o . . I niess ate: erwise
Projection DIMENSIONS ARE IN INCHES.|DWG. NO.: 103296 VER: TDI

4 | 3 A 2 1



